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QUESTION 1

What happens when you call the render:logdeptag? 

A. Composition dependencies are updated. 

B. Approval dependencies are updated for rendermode=live. 

C. Cache logs are updated. 

D. Rendering template logs are updated. 

Correct Answer: B 

Reference: 

http://docs.oracle.com/cd/E29542_01/doc.1111/e29634/dev_codingelements.htm 

 

QUESTION 2

Which two statements are true about the significance of any column starting with "URL"in adatabase table that is
created using WebCenter Sites? 

A. The table column value is a reference to a record in the MungoBlobs database table. 

B. The table column value is a reference to a file on the file system. 

C. The table column value is the result of a binary field created in AssetMaker for a basic asset. 

D. The table column value represents a link to an image file stored in the database as a blob. 

Correct Answer: AC 

 

QUESTION 3

Which two tables does the WebCenter Sitesnative user management system leverage? 

A. SystemUsers and SystemUserProfiles 

B. SystemUsers and SystemUserAttr 

C. SystemUserAttrs and Systemlnfo 

D. SystemUsers and SystemACL 

Correct Answer: D 

Reference: http://docs.oracle.com/cd/E29542_01/doc.1111/e29636/usersconfig.htm 
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QUESTION 4

Whichstatement accurately describestheWebCenter Sites Presentation layer? 

A. It is based on templates that execute at run time to deliver websites with no constraint on the HTML design. 

B. It requires a specific WebCenter Sites navigation component. 

C. It has restricted support for delivery of websites on tablets and smartphones. 

D. It requires specific CSS files to allow simple site-skinning choices. 

Correct Answer: B 

Reference: 

http://www.oracle.com/technetwork/middleware/webcenter/sites/overview/webcenter-sites-
111160-whatsnew-1610697.pdf 

 

QUESTION 5

Which three are necessary to make aWebCenter Sites deliveryenvironment highly available? 

A. running WebCenter Sites in a cluster 

B. a shared file system 

C. a load balancer 

D. a highly available asset model 

E. restriction to three levels of parent hierarchy in an asset model 

Correct Answer: ABD 
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